Integration Technique Review — Chapter 7
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Find the area between y =(x-8)® andy = 0 for [0, 8)

Find the area of the region to the right of x = 1 between y = 4—3—1 and the x-axis.
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Evaluate the following integrals. Determine if the integral converges or diverges.
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24. Find the area between y =(x -8)* andy = O for [0, 8) ((;» )

25. Find the area of the region to the right of x = 1 betweeny = 2__ and the x-axis. [—-—-/ /y7 3 )
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Evaluate the following integrals. Determine if the integral converges or diverges.
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